[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

&

...........................................

.....................................

.....................................

....................................

Ratio

U G LR LRRR RAREH L ARN RALLN RRRRN|

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_base

Effici —e— DQM_mKFit_TT_retrain_noCandDNN
ICIeNd __,__ DQM_mkFit_TT_retrain

~ 0.021

014

EHHCIRRCY S 8T

b
(]

e e
016F |- oo b

...........

=
= =y
[T

+ 4 4 4 u q EX 2 T R

I
QT

o

(= ; R
I

N

o

o

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05

> F : ?
80,045 -+ b eeseedresnenibe
£ E :
L L S S R
/30 1| PP SUURUPIE SOUPS PN ! N SO
5 :
Y0 lc) T S S
@ F :
D.025F ek h e
(6] E H H
0.02F -++++cherenees foeen b
0.015F (1
0.00+F |
0.005? ------------------------------------
o LOprrrker
s EIF
S 1 =1 8 2 1 1 Y 52 B O B (R0 B8 2 P SR SRR
-10 0 15 20

éim. PV z (cm)




	Contents
	Page 1


